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 25 circles in a square

radius =   0.266831508357
ratio  =  18.738416728792

density  = 0.853547513261
contacts = 31
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N = 26
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 26 circles in a square

radius =   0.266295371576
ratio  =  19.147983998389

density  = 0.858689422298
contacts = 44

 E.SPECHT
07-MAY-2013

N = 27
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 27 circles in a square

radius =   0.265946518337
ratio  =  19.538335959286

density  = 0.864670613212
contacts = 55
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N = 28
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 28 circles in a square

radius =   0.264056409879
ratio  =  20.039288669473

density  = 0.860246902824
contacts = 39
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N = 29
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 29 circles in a square

radius =   0.263398267875
ratio  =  20.444951481212

density  = 0.863479880281
contacts = 47
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N = 30
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 30 circles in a square

radius =   0.262886232808
ratio  =  21.177865249279

density  = 0.866329942566
contacts = 45
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N = 31
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 31 circles in a square

radius =   0.261757467775
ratio  =  21.270699208175

density  = 0.866874256863
contacts = 45
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N = 32
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 32 circles in a square

radius =   0.260490173507
ratio  =  21.716190570469

density  = 0.865162324663
contacts = 61
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N = 33
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 33 circles in a square

radius =   0.259689290344
ratio  =  22.452657649161

density  = 0.856231621890
contacts = 41
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N = 34
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 34 circles in a square

radius =   0.258988039581
ratio  =  22.514367474028

density  = 0.867796265822
contacts = 41
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N = 35
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 35 circles in a square

radius =   0.258993130937
ratio  =  23.032484476169

density  = 0.873752384136
contacts = 33
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N = 36
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 36 circles in a square

radius =   0.256691933815
ratio  =  23.374322325752

density  = 0.864141654686
contacts = 55
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